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In which of the following Gauche form is more stable if ‘P’ is :-
COoQ®
H P
H H
H
]
(1) —CH; (2) -CH.CH;3 (3) -C00° (4)—-NH;
Correct —I effect order is :-
(1) —-N®R, > -CN > -COOH >-OH (2) -N®R, > -COOH > —-CN >-OH
(3) ~-OH > -CN >-COOH — N®R; (4) -CN > -OH >-COOH -~ N®R,
Consider
COOH COOH COOH
OCH, NO,
(B) (©)
C. orrect order of above molecule in decreasing of pka value :-
(HB=>C=>A (2)C>=A>B (3)B=A>C 4HA=B=>C

Arrange the following carbocations in decreasing order of stability
I) Ethyl carbocation

IT) Tertiary butyl carbocation

IIT) Tropilium ion

DII=II>=1I

2)II=I=11I

3)I=>1>1I1

4HI>MI>10

Arrange the following in increasing order of acidic character
oOH OH oH

CH, NO,

I I iy
)I<MI<II
2) 1< <II
3)M<I<IM
HTI <I<I




What is decreasing order of dehydration in following compounds in the
presence of conc. HzSDeu
Ij I1I) IV)

50

1)IV=II=>1I>1 2)II=II= 1= IV
3)I=>1I=1I=>1V 4 I =1V =1 =1

Which of the following set of groups are meta-directing groups
1) —NO,.—NH,.-COOH .—COOR 2} —NQO,.—CHO.—-SO,H.—COOR
3) —=CN.-CHO,-NHCOCH,.—-COOR 4) —CN.-NH,.—NHR.-OCH,

Optical 1somerism arises from the presence of
1) A centre of symmetry 2) A line of symmetry
3) An asymmetric carbon atom 4) All of the above

Which one 1s the most reactive towards electrophilic reagent

CH
CH; ’ CH, CHy
Cj—ocu- ., @—OH 1 @CH;{)H N @NHCDCHE.
k)| :

10

An meorrect statement with respect to Syl and SN»> mechanisms for alkyl halide 1s

1) A strong nucleophile in an aprotic solvent mcreases the rate or favours S, 2 reaction
2) Competing reaction for an Sy2 reaction is rearrangement

3) Syl reactions can be catalysed by some Lewsis acids

4) A weak nucleophile and aprotic solvent inereases the rate Syl reaction

11

Identify correct acidie strength order in the following compounds
AAH-C=C-H B CH,-C=C-H ¢ H,(C=CH, D) CH-CH,
WB>C>D>4 2 A>B>D>C NVA>B>C>D D>C>B=A4

12

Which one is most acidic compound ?
0H

OH
OH OH
1} :} 3} CH, CH, _1) CH,

13

The correct decreasing order of basic strength for the following compounds is
NH, NH, VH,
OC_H! _.‘\rHL I\.I [.:h

1Y)A>B=>=C )B=>A4>C 3)A>C=>B HC>B=A
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Which one of the following has all the effects, namely inductive. mesomeric and hyper conjugation?

1) CH,CI 2y CH,—CH =CH,
I
3 CH,CH=CH.C.CH, 4) CH2 —CH-CH ZCH2
15 The dihedral angle between two methyl groups in partially eclipsed conformation of n-butane 1s
1) 180° 2) 120° 3) 90° 4) 109°2¢
16 The correct stability order of the following resonance structures is :
i) H,C=N=N i) H,C-N=N i) H,C-N=N i) H,C-N=N
1)i=ii=iv>iii 2)iziii=ii>iv 3)izii=iii>iv 4)iii>i=iv=>ii
17 The correct order of basic strength of the following is
AN{H(ﬁO(ﬁH} @ . AWCHB
a) b)
NH,
@ C—CH,NH, O cocH,
c) d)
1) a>b>c>d 2)d>b>c>a 3)d=a=>b>c 4y c>d>b>a
18 Order of reactivity towards nucleophilic substitution reaction of the compounds
cH,—cl /@/ e H /@/ CH,—ClI
i) @ i) HO jij) CN iv) VO
1) i>ii>iii >iv 2) i >i>1iii >iv 3) iveiii i > 4) dii > iv>ii>i
19 The absolute configuration of the C, and C; atoms in the molecule with the
structure is
'CH,
Cr] ziH
E——oH
‘CH,
1) 28, 3S 2) 2R,3S 3) 28,3R 4) 2R, 3R
20 Most acidic of the following is
1) Phenol 2) m- cresol
3) m- methoxy phenol 4) p - ethyl phenol
21 IUPAC name of the following compound 15

CH,-CH—-CH,

CN CN CN
(1)3-cyanopentane-1.5-dinitrile
(2)Propane-1.2 3-tricarbonitrile
(3)Propane-1.2 3-trinitrile
(4)Propane-tricyanide
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'.IT.H:a co

15 —
The IUPAC name of CH.-CO
(1) Ethane dioicanhydride
(2) Butane diowcanhvdride
(3)Butanoic anhydnde
(4)Ethanoic anhydride

23

TUPAC name of the following compound will be:-

[FL?
%

(1)3.4-Dimethyl octa-1,3.6-triene
(2)3.7-Dimethyl octa-1,3.6-triene
(3)2.6-Dimethyl octa-2.5_7-triene

(4)2.6-Dimethlyl octa-1.5. 7-triene

24

The TUPAC name of given compound 15

(’H,—j Hj H-CH,-CH,
‘N CH=CH,

(1) 2-Cyano-3-vinylpentane

(2) 2-Methyl-3-vinylpentanenitrile
(3)3-Ethyl-2-methylpent-4-ene-1-nitrile
(4) 2-Methy-3-ethylpent-4-ene-1-nitrile

25

The correct order of Bond length for bonds (a.b.c) 1s -
O

—d

. O
~ :f,
OH ¢

(1)a=b>c (2)a=c>b
(3Ib=a=c (4b=c>a

26

Which one of the following is not according to [UPAC system

H
(1) /K/ 1-Bromopropene
Br
(2) r\x 2-Bromo-5,5-dimethylhexane
r

(3) Yg\ 2-Methyi-4-phenylhexane

@ {O— CONH —O N-Phenylcyclohexane
carboxamide
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TUPAC name of the compound.
CH,—CH,CH,Cl

15
1) 1-chloro-2, 3-epoxypropane
2} 3-chloro-1, 2-epoxypropane
3) 1-chloroethoxymethane
4) none of the above

28

The hybrid states of carbon atoms in C,(CN), are A and B and number of 7 bonds in compound is C
then.

1)A=SP B=SP' andC=9

2)A=SP° B=SP andC=9

3)A=SP° B=SP andC=9

4)A=SP° B=SP andC=9

29

Cl

The IUPAC name of the following compound ON NO2 5
1) 1-Chloro-2. 4-dinitro benzene

2) 2-Choloro-1, 5-dmnitro benzene

3) 1. 3-Dinitro-2-Chloro benzene

4) 4-Chloro-1. 3-dinitro benzene

30

The compound that has two 1sopropyl groups 1s
1) 2-methyl pentane 2) 2.2-dimethyl pentane
3) 2.3-dimethyl butane 4) 2.2 3-trimethy] pentane
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Which of the following compounds is not chiral —
(1) DCH,CH>CH,C1 (2) CH;CH.CHDC1 (3) CHsCHDCH,CI (4) CH;CHCICH:D

32

Which of the following is a chiral compound —
(1) 2-methyl pentanoic acid (2) 3-methyl pentanoic acid
(3) 4-methyl] pentanoic acid (4) Both (1) and (2)

33

Structure of trans 2-hexenal is -

CHO
(1) /\/=\CHO (2) /\/=/ (3) W HO (4) None of these

34

Dihedral angle in staggered form of ethane is —
(1) 0° (2) 120° (3) 60° (4) 180°
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Which of the following pairs of compounds are enantiomers -

CH; CH; CH; CH;
: H——OH ,,4 HO——H ,, H——OH ¢ HO——H
(1) go——= H—1—OH @) Ho——n HO—1—H
CH; CH; CH; CH;
CH; CH; CH; CH;
o BT —OH ag H——OH . HO——H ,,q HO——H
®) HO—1—H H——oH ) H——0H HO—T—H
CH; CH; CH; CH;
36 Br
I
N
afi - . HC o ¥
The configuration of the given compound is —
(1)E (2)R 3)s (CYy4
37 CH;
H—f—cl
Cl——H
The absolute configuration of the following compound is - CHs
(1) 28.3R 2)28.38 (3) 2R. 38 (4) 2R. 3R
38 CH;
Correct configuration of the followingis— .| oo
‘orrect configuration of the following is ~CH——OH
H
(1) 2S. 38 2)28. 3R (3) 2R. 3S (4) 2R. 3R
39 Which of the following is not chiral -
(1) 2-Butanol (2) 2.3-Dibromo pentane (3) 3-Bromo pentane (4) 2-Hydroxy propanoic
acid
40 Among the following L-serine is —
NH; CO:H CO.H CH,OH
(H=u CO.H 2) HOH,C H (3) ©_N CH,OH (4) EbN H
CH,OH NH, H CO,H




41 Among the following which one can have a meso form -
(1) CHs;CH(OH)CH(CI)C,Hs (2) CH;:CH(OH)CH(OH)CH;
(3) C;HsCH(OH)CH(OH)CHjs (4) HOCH,CH(C1)CHs
42 CH;-CHCI-CH,-CH: has a chiral cenfre which one of the following represents its R
configuration -
CyHs (|:le5 (l::HS CyHs
| |
(1) H—C—CH; 2) C‘l—Cl.'—CH3 (3) H—Cl.'—C‘l 4) H;C‘—C|'—C'l
|
Cl H C,Hs H
43 How many stereoisomer does this molecule have CH:CH=CHCH.CHBrCH;
(1)8 2)2 (3)4 46
44 The relationship between the structures shown below is
cl cl
CH; Jﬁﬁr Br CH;
= H
1) Enantiomers 2) Identical compounds

3) Structural isomers 4) Contormational isomers




KEY

1 ANS 4
2 ANS 1
3 ANS 3
4 ANS-1
Aromatic greater than hyper conjugation
5 ANS-1
—CHs | acidic strength—NO» Tthe acidic strength
6 ANS-2
IIl on dehydration gives benzene which is aromatic and stable
Il undergoes readily than I due to stability of carbocation formed as intermediate.
IV does not undergo dehydration readily
7 ANS-2
Electron withdrawing groups are meta directing groups
8 ANS 3
9 ANS 2
10 ANS 2
11 ANS-3
A>B>C=>D
12 ANS-4




OH

13

ANS-2

14

B>A>C
ANS-3

15

0
|
CH,CH =CH.C.CH,
ANS-2

16

120°

ANS-2

17

Resonance structure which contain atoms with Octet configuration is more stable. More E.N
atom with -ve charge is more stable than less E.N. atom with -ve charge

ANS-4

18

-IT>BNY
+IT>BNT
-M T BN
+MI->BNT

NH,

—
(jf)\/_f CH,NH, >_\

_ / COCH,

/_>7¢ NECH, G\ HCOCH,

ANS-2

19

CH®
@+M =71
©

The stability of (C%) carbocation is

increased by +M group and
decreased by -M group

ANS-4

1 ey
CH, ®

®Cl—

= H

H—F—OH
o ®

®
cH

3




20 ANS-3
21 ANS-2
2(2)
I:*" e 5”
G ey by P 12,3 - tricarbonifrile
22 ANS-2
23 ANS-2
24 ANS-3
25 ANS-3
(3)
qPH.IIli:l
o
A, e
sngledy  VPure
double
Jorderis-b=a>c
26 ANS-2
27 ANS-2
28 ANS-2
)
N=C. _G=N A= S’ hybridized C atoms
C-C B - SP hybridized  C atoms
M= TC=N
C=Moof T bonds -9
29
oNx * 73 'No,
l—iihlﬂm-l. 4-dinitro benzene
30 ANS-3
| CH.-CH-CH-CH,
1 (3) CH, o
31 ANS-1
32 ANS-4
33 ANS-2
34 ANS-3
35 ANS-1
36 ANS-2
37 ANS-2
38 ANS-1




39 ANS-3
40 ANS-1
41 ANS-2
42 ANS-2
43 ANS-3
44 ANS-1

cl Cl

A S Brl’l“ CH;
Sol; fand

H H
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